gforeet ued o3 (3veHIfsue)

2015

AT IR (AgTf=ad)
SOCIOLOGY (THEORY)

|HY : 3 " quiieh : 80

RENHG
(i)

(iii)
(iv)

v)

(vi)

(vii)

Instruction :
1)
(i1)
(i11)
(iv)
(v)

(Vi)

(vii)

9 U U H gl 25 U © | 9 U AR g |
e GRAT 1 | 14 Th IAD Y9 2 3! BT 8 | UAH BT I TN 40 ] H

élaQI

U9 AT 15 F 21 db UAb U 4 3ibl BT | UAd BT I T 100 )
H IR |

U9 ART 22 H 24 db IAD YT 6 3l BT 8| TP BT SN T 250 e
¥ AR |

Ue W1 25 Y WR ARG | 369 W Y T IUUE] bl IR QY Y
T U JMRT B8N, o SuyeHl d g & forv 2 3k RuiRd € uda
SYYYT BT IR oI 40 el H U |

gl & IR GRS Ol UeH & 3gdhd sl any |

UH U I URY BT R < Tb HRd SIsd | SIf U9 9 37l & 99 W
THY T T I |

There are 25 questions in all. All questions are compulsory.

Questions No. 1 to 14 are of 2 marks each, to be answered in about 40 words.
Questions No. 15 to 21 are of 4 marks each, to be answered in about 100 words.
Questions No. 22 to 24 are of 6 marks each, to be answered in about 250 words.
Questions No. 25 is based on psssage. Sub questions asked on it are to be answered
based on the given passage. Each of the three sub questions is of 2 marks, to be
answered in about 40 words.

Answers should be precise and to the point.

Start from the first question and proceed to the last. Do not waste time over a question
which you can not solve.

1. 9gad IRaR & @1 g T ? 2
What is the meaning of ‘Joint Family’.

2. SRR @1 8 ? 2
What is Demography ?

3. '3IG¥Y B BT AT AU © 7 2

What is the meaning ‘Invisible hand’ ?
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4. ARRfdE fafdedr &1 ar el 7 ?

What is the meaning of ‘Cultural diversity ?

5. SMEDBIBOT F MY T FH & 2

What do you understand by Modernization ?

6. TXBITHRUT BT FAT 3Hf § 7
What is meant by Sanskritisation ?

7. A AED AT BT WU [Fds gRT 3R @&l 31 T8 ?
Who founded ‘Satya-Shodhak Society’ and why ?

8. T91d AHE BT RN HIRTT |

Define Pressure group ?

9. 'gHAIHS AR [ UPHR & HSIGRI DI Hal Sl © ?

Define ‘Foot Loose Labourers ?

10. 7RI ¥ IR HFIRI & fog F9R1 UaT &=l € |
How machines creat problem for Labourers ?

11. YIIR Ufshar § ared $dl 9 ®R forv 5= & Ry 9a1sy |

What are the consequences of Business Process Outsourcing ?

12. @S ASIGRI & &I FARIN AT & ?
What are the main problems of Mine Labours ?

13. 99 9D & A (AT HIRSA) & AR ISTER0T STy |
Give any four examples of Mass-Media.

14. ‘eI’ oreg &1 YANT b A== o fban Sfmar § 2
To which reference the word ‘Dalit’ is used ?

15. ST eIl H YAahvvl iR SfehA & FT YfFdT 57 WK By |

What are the roles of separation and hierarchy in caste system ? Explain.

ST
YR BTt H ST awel § 1 U YRdd-i &l Seeikg dbifo |
Describe the main changes occurred in the caste system during colonial period.
16. HAUSHIHRIT HT 57 THAUSAIHRY & AT~ UBR & dOIRI DI {HA UBR gq1iad
fbarr?
What is Globalization ? How did it affect different type of markets ?
17. &3d1g {6y HEd 87 &G & YT HRb T 57
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18.

19.

20.

21.

22.

23.

Define regionalism ? What are the main factors of regionalism ?

aferat
IR BT URATNT DINTY | HATITHRT 15T 6 THRI BrAl BT quid DI |

Define State. Describe the main functions of a welfare state.

73 df GqET AET T 87 YRl $ WD Bl DI quid DI | 4

What is 73" amendment of constitution ? Sescribe the main function of panchayats.

ERI—pI~T | MU T FHST 27 YRT H sRA pifed & ATHISTh—anfeid gardi &l
=T Hifste | 4

What do you mean by Green Revolution ? Discuss the socio-economic consequences of

Green Revolution in India.
ARI—ASIT |7 ?AT—H1SIT & Afdd AR IS IR TS I8 JUTdl BT g HIfoTT |4

What is mass-media ? Describe how is it affecting individual and society ?

AT ATRIAT AT 2?2 AR § SIS ARl & T HRUT dad1sy | 4
What is social revolution? What are the main causes of tribal revolution in India ?
E—gwY U BT 7 37ef 87 4Rd § FIRd Y SN—Y&Y JquId & TS HRDI DI
quI BT | 6
What is the meaning of Female-Male ratio ? In India what are the main factors
responsible for diminishing Female-Male ratio ? Describe.

AT
SR 3R Jgar dl T 3fef 57 SiHax H FRTae sfegd 4 &% & @i a1rell B,
STafes FPex Aol H AR 2 | fademr Sy |
What are the meanings of Birth rate and Death rate? Why does Birth rate fall

comparatively slowly whereas Death rate falls rapidly? Discuss.
AMINTE RGN DT FHSTSY | FATST § WRIBROT B ATGLIDH FT Blell © 7 6
Define social stratification. Why is stratification required in society ?

AAdT
Higel FATFTHROT A AT o1 FHI &7 [INTHR AR AT H g 9l AaTehDh 87
What do you understand by empowerment of women ? Why it is necessary, especially

in the Indian society ?
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24. fafeer SRR ToT TRIGRUT 7 AR AAISTS HRT Ud Jeqdel &l fhd
JHR gHTiad fhar? «aren Sifsg | 6
How did British Industrialization and Urbanization affect the Indian social structure and
economy. Elucidate.

Jrerar
IUIRETE fhd Bed 57 IUMALEE & DRV ARAY SToigd & A= &3 § @
gRacH gu? faaemn Sy |
What is colonialism ? What changes occurred in the different fields of Indian public life
due to colonialism ? Discuss.

25. fFR=IfRaT eIl &l eYde Ufey T2 SH d gu T el b1 IR SIfg—
el B S o7 H At ARl Bl g H&RT &6 B & 918 Q¥ Ud AN &F H
RER W 8| U UFd STHfead  Ugel 8 g Bl UIed bR arel RIggall & |aifde
AT BT A Rere W YR & 7 & | Ggad I J% gRT SN b T¢ ur=
99 § HH D gedi bl G b YA D ATHR 2009 H R & UG 99 H HH gl
D I G 17.26 oG, [SIH! I T 66 ©, Tof D |

) R Ig R A9 99 R H AT R T °? 2
() "IFH (UNICEF) &7 qRT 91 feTRey | 2
(1) 3T IR ¥ 9 & A A HROT T 8 Ahd 37 2

Close on the heads of recording the Largest number of Women dying child birth, the
country now occupies another top spot. India holds the unenviable record of being home to
the highest number of children who die before reaching their fifth birthday. According to
the latest United Nations under- five mortality, released by UNICEF, India recorded 17-26
Lakh under-five deaths with a mortality rate of 66 in 2009.

() What is the defference between infant mortality rate and maternal mortality rate ?
() Write full name of UNICEF.

(1) What are the most common causes of deaths according to you ?
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